Answer to Question 1

ANSWERS

(a)
Pavlos Account
2019 € 2019 €
Mar 1 | Balance b/d 8.000 | Mar5 | Bank 7.840
Mar 5 | Discount allowed 160 | Mar 11 | Sales returns 270
Mar 17 | Sales 4.000 | Mar 31 | Discount allowed 320
Mar 20 | Sales 3.400 Sales returns 450
Palma & Co 3.400
Balance c/d 3.280
15.560 15.560
April 1 | Balance b/d 3.280
(3 marks)
Alternative solution 1 Pavlos Account
2019 € 2019 €
April 1 | Balance b/d 7.450 | April 1 | Discount allowed 320
April1 | Sales returns 450
April1 | Palma & Co 3.400
April 1 | Balance c/d 3.280
15.560 15.560
April 1 | Balance b/d 3.280
Alternative solution 2 Pavlos Account
2019 € 2019 €
April 1 | Balance b/d 8.000 | April1 | Bank 7.840
April 1 | Sales 4.000 | April 1 | Discount allowed 160*
April 1 | Sales returns 450**
April 1 | Balance c/d 3.280
12.000 15.560
April 1 | Balance b/d 3.280
*160-320 **270+450




(b)  Any two of the following:
e Error of Omission: No double entry made in the books
e Error of double posting/duplication: Entries are double recorded/duplicated
e Error of Commission: Posted to wrong account of same class
e Error of Principle: Posted to wrong account in a different class
e Compensating: Two different errors cancelling each other out
e Error of Original entry: Incorrect original figure used
e Reversal of entries: Accounts are correct but double entry reversed

(2 marks)
AUO aT1To TA TTIO KATW:

e AdOn diITARG KaTaxwpnong, dnAadn yivetal OITTAN KaraxwpEnon PIag
ouvaAAaynig

¢ AdOn karevBuvong, dnAadni n ocuvallayn kataxwpeeital o€ Aavbaouévo
Aoyaplaoud 1n¢ idlag karnyopiac

e AdOn AoOyIOTIKWYV KAOVOVWYV Kal apXwv, d6nAadrh n cuvaAAayr Kataxwpeital o€
AavBaopévo Aoyapiaoud TTou avikel o aAAn karnyopia

e AdOn cupywneiopou | aAAnAoavaipoupeva, dnAadr yivovtal dUo Ad6n aAAd
70 éva avaipei To aAAo

e  AdON apxIKwV eyypa@wy , dnAadry AGBn TTou yivovTal Kard Tnv Karayxwpenon
TwWV ouvaAAaywyv oTa BondnTika BIBAia Kal OTN CUVEXEIQ JETAPEPOVTAI OTOUG
QVTiIOTOIXOUG AOYapIOCHOUG

e AdOn avrioTpoPng KAaTaxwpnong , ONAadn N XPEOTTIOTWON KATAXWPEITAI
avTiBeTa OTOUS AoYyapIacIoUS

Answer to Question 2

(@) (i) Depreciation charge:

(720.000 — 220.000) x 2% = 10.000

220.000 x 2% x 9/12 =3.300
13.300

(if) Carrying value:

Carrying value = Cost — accumulated depreciation

720.000 — 120.000 — 13.300 = 586.700 (2 marks)
(b) ()
Irrecoverable debts w/off = 3.600
Irrecoverable debts to be w/off =6.200 9.800 DR
Allowance for receivables
Opening allowance: 3.800
Closing allowance: 5% (51.600 — 6.200) = (2.270)
Allowance decreased by (1.530) CR
Total charge for the year 8.270
(if) Net receivables: 51.600 — 6.200 — 2.270 = 43.130 (3 marks)
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Answer to Question 3

(a) The correct answer is (B) (2 mark)
(b)
Cash Flow from Investing Activities €
Purchase of non-current assets (90.000)
Sales of non-current assets 10.000
Sale of shares in other companies 10.000
Net Cash used in Investing Activities (70.000)
(2 marks)

(c) Cash is the available liquidity of a business and its ability to pay its liabilities.

Profits are the net income (income less expenses) from the business’ activities at
the end of the accounting year, which have not yet been converted into cash and
the calculation of which is based on concepts.

(2 marks)

MeTpnTd gival n S100€01uN PEUCTOTNTA (TAMEIOKA BI0BECINA) TTOU £XEI MIA
EMIXEipNON KAl N IKAVOTNTA TNG VA TTANPWVEI TIG UTTOXPEWOTEIS TNG.

Képdn gival To kaBapod amrotéAeopa (Ecoda peiov £€§oda) atrd Tig
OpaocTNPIOTNTEG TNG EMIXEIPNONG OTO TEAOG KABE AOYIOTIKOU £TOUG, T
OTToia MTTOPEI VO NV £XOUV METATPATTEI OE METPNTA.



Answer to Question 4

(@)

Years Net cash flows Cumulative cash flow
0 (100.000) (100.000)
1 40.000 (60.000)
2 35.000 (25.000)
3 33.000 8.000
4 37.000 45.000

Payback period = 2 years + (25.000/33.000) 12 months = 2, 75 years
OR 2year and 9 months

(2 mark)
(b)
Depreciation = 100.000/4 years = 25.000
Years Profits

1 40.000 - 25.000 = 15.000

2 35.000 - 25.000 =10.000

3 33.000 - 25.000 = 8.000

4 37.000 - 25.000 = 12.000

Total profits €45.000

Average profits = 45.000/4 = €11.250
ARR = (€11.250/€100.000) x 100 = 11, 25% (2 marks)

(c) Option 2 pays back initial investment earlier (2 years 9 months), however it
ignores the net cash flows after the payback period.

The ARR is based on the annual profits. Option 2 is providing higher rate than the
cost of capital (10%). The ARR of Option 1 is lower than the cost of capital.

The company should invest in Option 2 as it has a shorter Payback Period and a
higher Accounting Rate of Return.

(2 marks)

2tnv EmmiAoyn 2, n repiodog etraveioTpagng gival HIKPOTEPN (2 £€TN Kol 9 HAVEG),
EVW AYVOEi TIG KABAPEG TANEIOKES POEG HETA TNV TTEPIODO £TTAVEICTIPAENG.

H Méon Ammédoon Baciletal ota eTRoi1a kKEPdn. H ETIAoyn 2 rpoc@épel
HeEyaAUTEpO TTO000TO Méong Arédoong amrd To Kéotog KepaAaiou (10%). H
Méon Amrédoon Tng EmiAoyng 1 ival xapnAéTepn amréd 1o Kéotog KepaAaiou.

H eTtaipeia Oa erevduoel otnv EmiAoyn 2, n omroia éx&1 XapunAoTepn mepiodo
emmaveioTpagng kai peyaAotepn Méon Amrédoon.



Answer to Question 5

1.
a) Calculation of the number of new shares issued during the year:
€160.000 +€0,50=320.000 shares
b) (160.000 + 96.000) + 320 000 shares = €0,80 per share
Alternative way:
The issue price per share:
Par value + share premium
€0, 50+€0, 30* = €0, 80
*Share premium: €96.000: 320.000 shares = €0, 30
c) The Dividend paid per share:
€40.000 + 800.000 shares= €0, 05
(3 marks)
2.
Journal
Dr Cr
€ €
Land 20.000
Revaluation Reserve 20.000
(2 marks)

Answer to Question 6

a. Selling Price = €30, Variable cost per unit = /52 x €30 = €10

Contribution per unit = Selling Price — Variable Cost per unit = 30 — 10 = €20

€
Salaries (5 x €40.000) 200.000
Premises annual depreciation 25.000
Other fixed costs 25.000
Total Fixed Cost 250.000

Fixed Cost

contribution per unit

Break — Even Poinit in meals =

_ €250.000

20 = 12.500 meals

(3 marks)



b. Margin of Safety = Actual sales — BEP sales

= (360 x 50 meals) — 12.500 meals = 5.500 meals

Margin of Safety

Margin of safety is the difference between the breakeven (in units or percentage) and
the actual level of production/sales, or the amount by which output can fall short
before the business risks making losses.

(2 marks)

MepiBwplo ao@aAeiag gival n dla@opd HPETALU TOUu veEKPOU onueiou (o€ Povadeg N
TTO000TO), KAl TOU TTPAYHATIKOU ETTITTEOOU JovAdwYV TTapaywyns/ TwAnong, A aAAIwg
TO TTO00 KATA TO OTTOIO N TTAPAYWYH UTTOPEI va PEIWOEI TTPIV N ETTIXEIPNON VA ApXioEl
(va KIivOuveUEl) va TTpayuaToTToINoEl (NUIEG.

Answer to Question 7 (Multiple Choice Questions)

1. The correct answer is B
2. The correct answer is C
3. The correct answer is C
4. The correct answer is A

5. The correct answer is C

(5 marks)



